Chapter 12 Problem IV (+1)



Name _____________________

Show all work to receive full credit!

31. What is the volume occupied by 0.250 mol of a gas at STP?

32. What volume does 0.742 mole of Ar gas occupy at STP?

34.  What volume do 4.02 x 1022 molecules of He gas at STP occupy?

35. What is the volume of a container that holds 8.80 g of carbon dioxide at STP?

37. Determine the total pressure of a gas mixture that contains oxygen, nitrogen, and helium if the partial pressure of the gases are as follows: Poxygen = 20.0 kPa, Pnitrogen = 46.7 kPa, and Phelium = 26.7 kPa.

38. A gas mixture containing oxygen, nitrogen, and carbon dioxide has a total pressure of 32.9 kPa.  If Poxygen = 6.6 kPa and Pnitrogen = 23.0 kPa, what is Pcarbon dioxide?

39. In your own words, what is

a) Avogadro’s Hypothesis –

b) Dalton’s Law –

c) Graham’s law –

40. How are moles, masses, or volumes of gases calculated from one another for a gas at STP?

41. Calculate the number of liters occupied at STP:

a) 1.7 mol H2
b) 1.8 x 10-2 mol N2
c) 2.5 x 102 mol O2
42. How is the partial pressure of a gas in a mixture calculated?  

How is the rate of effusion of a gas calculated?

